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QUESTION 1

What does using a system keyword within an association filter allow a developer to do? 

A. Filter based on relationships to user input at runtime 

B. Filter based on a relationship to another query result set 

C. Dynamically change the record used as the basis for the association filter 

D. Overload the data type provided as the filter source for the association filter 

Correct Answer: C 

 

QUESTION 2

What is the most efficient way to add an additional 10 new entries to an existing list? 

A. Use a workflow to add the new list values. 

B. Use Data Integrator to import a new list with the new values. 

C. Select the list, enter all the values, and then save the entries. 

D. In the form that lists the values, enter each value as it is needed for that particular record. 

Correct Answer: C 

 

QUESTION 3

After clicking the Find action in the Field List panel in the Data Modeler, which three options can be used to limit search
results without wildcards? (Choose three.) 

A. Type 

B. Form 

C. Suffix 

D. Formula 

E. Module Name 

F. Business Object Name 

Correct Answer: AEF 

 

QUESTION 4
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Which type of workflow can be called from an onClick event? 

A. Subflow workflow 

B. System workflow 

C. Synchronous workflow 

D. Asynchronous workflow 

Correct Answer: C 

 

QUESTION 5

Which workflow type will be a Pre-Create workflow? 

A. Subflow 

B. System 

C. Synchronous 

D. Asynchronous 

Correct Answer: C 

 

QUESTION 6

State actions can only be added to which query? 

A. An editable query 

B. A metric type query 

C. A hierarchy type query 

D. A query with associated business objects 

Correct Answer: A 

 

QUESTION 7

The design requirement for a query section is to make sure that the end user cannot remove any records from the query
section at runtime. By default, a DeAssociate action does appear. What should be done to reconfigure the section? 

A. Delete the DeAssociate action from the query section. 

B. Delete the label for the DeAssociate action in the query section. 

C. Uncheck the Active setting in the DeAssociate action for the source query. 
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D. Uncheck the Pop-up setting for the DeAssociate action in the source query. 

Correct Answer: B 

 

QUESTION 8

Which statement is true about a reference when referring to a smart section or locator field? 

A. It indicates a direct link between records. 

B. It is a lookup established by using a dependent association. 

C. It is the slowest way to access related data and should only be used in mapping as a last resort. 

D. It represents a relationship between records by bridging across the IBS_SPEC_ASSIGNMENTS (association) table. 

Correct Answer: A 

 

QUESTION 9

Which statement is always true about runtime filters and queries? 

A. Users are limited to three values when using runtime filters. 

B. Runtime filters can be set against fields that are not displayed on the query. 

C. When using runtime filters, the user must apply filters before seeing the results of the query. 

D. Runtime filters allow the system to dynamically alter results (for example based on the record that initiated the query) 

Correct Answer: B 

 

QUESTION 10

A field level formula that depends on a query has been modified within a business object. The query did not change.
Which cache must be cleared? 

A. UOM Data 

B. State Data 

C. Query Cache 

D. Extended Formula Cache 

Correct Answer: D 

 

QUESTION 11
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Which statement is true about a switch task? 

A. The square is always the true side and always on the left. 

B. The square is always the false side and always on the left. 

C. The square is always the true side and can be on either the left or right. 

D. The square is always the false side and can be on either the left or right. 

Correct Answer: D 

 

QUESTION 12

A state transition is not supposed to be available as a clickable action in a form at runtime but it appears anyway. Why? 

A. The state transition is not configured to be excluded in the Sub Action properties. 

B. The Hidden Action property is not configured correctly in the State Transition properties. 

C. The Default Display property is not configured to be excluded in the Sub Action properties. 

D. The Secondary Action property is not configured correctly in the State Transition properties. 

Correct Answer: A 

 

QUESTION 13

A navigation collection is a hierarchical structure that contains what? 

A. portal sections 

B. navigation items 

C. only menu items 

D. only related navigation items 

Correct Answer: B 

 

QUESTION 14

A Notification Helper Object needs to be associated to the people records to notify using which association string? 

A. Notify 

B. Route To 

C. Deliver To 

D. Notification For 
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Correct Answer: A 

 

QUESTION 15

Which workflow type updates the database immediately? 

A. synchronous workflow using temporary data 

B. synchronous workflow using permanent data 

C. asynchronous workflow using temporary data 

D. asynchronous workflow using permanent data 

Correct Answer: B 
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